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al phabet =" ABCDEFGHI JKLMNOPQRSTUVWKYZ"

ABCDEFGHI J KLMNOPQRSTUVWKYZ
StringTake [al phabet, {9}] » StringTake [al phabet, {Mdd[(9-1) +5, 26] +1}]
I - N
encrypt5 = Tabl e[Stri ngTake [al phabet, {i}] -
StringTake[al phabet, {Mod[(i -1) +5, 2671 +1} ], (i, 1, 26}]
{A-F, B-G C-H D->1, E-J, F-K G->L, H-MI >N J->0 K-P, L>-Q M=>R
N-S, O-T, P-U Q-V, R-WS->X T-Y,U>2Z VoA W-B, X-C Y-D Z-E}
cleartext = "This is the message i want to encrypt”
This is the nessage i want to encrypt

cl eartext = ToUpper Case[cl eartext ]
THI'S | S THE MESSAGE | WANT TO ENCRYPT

ci phertext = StringRepl ace[cl eartext, encrypt5]
YMNX NX YMJ RIXXFLJ N BFSY YT JSHWDUY

StringReplace ["THIS | S THE MESSAGE | WANT TO ENCRYPT", ({
"A' 5 "F', "B" "G, "C' >"H', "D'>"I", "E'" 5"J", "F'" 5"K",
"G s"L", "H' "M, "I" "N, "J" "0, "K' >"P", "L" 5"Q", "M >"R",
"N'»>"S", "O' >"T", "P">"U", "Q >"V', "R">"W, "S" 5"X",
"T" "Y', "U "2, "V TAT, "W 5 "B, "X s CY, Y s "D, "2 s T E!
}
1

YMNX NX YMJ RIXXFLJ N BFSY YT JSHWDUY

decrypt5 = Tabl e[StringTake [al phabet, {i}] -
StringTake[al phabet, {Mod[(i -1) -5, 2671 +1} 1], (i, 1, 26}]

{A-V, B-WC->X D->Y,E-Z F>A G-B H-C | -D J->E K-F L->-G M->H,
N-1, O-J, P>K Q-L, R-M S>N T-0 U->P, V-Q W-R X->S5 YT, Z-U}

StringRepl ace[ci phertext, decrypt5]
THI S IS THE MESSAGE | WANT TO ENCRYPT

"YMNX NX YMJ RIXXFLJ N BFSY YT JSHWDUY"



